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1101[XK1E EE 155 1,550 0 1,550 10 0 0 0 1512 0 864
EE 40 600 0 600 15 0 0 0 0 1,188 0
GhH 195 2,150 0 2,150
1M13|FEAS  [dLEE 115 1,150 0 1,150 10 0 0 0 1,728 0 864
GhH 115 1,150 0 1,150
1201|833 E% 107 1,605 0 1,605 15 0 0 0 4,644 0 3,024
GhH 107 1,605 0 1,605
1203|F vy [HE 280 2,800 0 2,800 10 0 0 0 1,188 0 702
f=554 81 810 0 810 10 0 0 0 0 864 0
ED 361 3,610 0 3,610
1205[IF5NAE Gb 30 120 0 120
1207| B & (&D) 890 89 89 0
1209[B & B 3 9 0 9 3 0 0 0 2,376 0 2,160
& 3 9 0 9
1301 [HF RE 3 15 15 0 5 432 0 324 0 0 0
=B 15 75 0 75 5 0 0 0 0 2,160 0
=) 14 56 0 56 4 0 0 0 1,836 0 1,404
e 73 365 0 365 5 0 0 0 2,592 0 1,296
#mE 6 36 0 36 6 0 0 0 864 0 432
) 118 575 15 560
1311[k<+ (&) 60 240 0 240
1321 [HR BiE 69 345 0 345 5 0 0 0 3,780 0 3,024
(&) 112 635 0 635
13B1E—<> [EE 90 14 0 14 0.15 0 0 0 0 103 0
x5 600 90 0 90 0.15 0 0 0 103 0 97
(&) 990 143 0 143
1355|495 BERS 400 40 0 40 0.1 0 0 0 0 70 0
(D) 400 40 0 40
1361[R/Fa>  [EH 42 210 0 210 5 0 0 0 0 1,814 0
[E)) 42 210 0 210
1371 L1 x5 28 84 0 84 3 0 0 0 1,296 0 1,080
Eh 28 84 0 84
1411 | BEF (&) 140 70 70 0
1501 | HE& EE 160 800 0 800 5 0 0 0 1,188 0 972
(&) 160 800 0 800
1521 |B3¥F [&0) 5 50 0 50
1541 [E& EE 136 1,360 0 1,360 10 0 0 0 1,674 0 648
Eh 136 1,360 0 1,360
1603|tz)L)— [E%H 5 50 0 50 10 0 0 0 0 3,240 0
Eh 5 50 0 50
1609|70wal) [dtiEE 5 30 0 30 6 0 0 0 0 3,456 0
dLiEE 15 120 0 120 8 0 0 0 3,888 0 3,672
(&) 20 150 0 150
1611[LAR E% 10 50 0 50 5 0 0 0 2,160 0 1,620
=% 5 50 0 50 10 0 0 0 2916 0 2,700
Gh 15 100 0 100
1612| 4 =L 52X |EH 5 25 0 25 5 0 0 0 0 2,376 0
Gh 5 25 0 25
1627|S=k<k  [dtiEE 60 180 0 180 3 0 0 0 0 3,456 0
Gh 60 180 0 180
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1705| T A= =0 1,440 115 0 115 0.08 0 0 0 119 0 108
= 3 12 0 12 4 0 0 0 0 5616 0
GhH 1,447 143 0 143
1803 HE S 300 30 0 30 0.1 0 0 0 0 125 0
=) 150 30 0 30 0.2 0 0 0 0 66 0
& 960 111 0 111
1807 |#BEH f=554 200 20 0 20 0.1 0 0 0 0 32 0
=% 1,200 240 0 240 0.2 0 0 0 0 59 0
f=554 300 90 0 90 0.3 0 0 0 0 59 0
& 1,700 350 0 350
1809[L&L EH 250 25 0 25 0.1 0 0 0 0 49 0
=% 750 150 0 150 0.2 0 0 0 0 65 0
(&) 1,000 175 0 175
* S EEET * 16,219 27,454 189 27,265
2303 | K [ED) 4 40 0 40
2611 |EA—3  |18E 16 6 0 6 0.35 0 0 0 0 756 0
(&) 16 6 0 6
2616|]S<AAL _ [ELWL 25 50 0 50 2 0 0 0 0 3,240 0
(&) 25 50 0 50
2731|F /K A 163 2,445 0 2,445 15 0 0 0 6,480 0 1,080
=% 28 448 0 448 16 0 0 0 0 4,860 0
Eh 191 2,893 0 2,893
2821|FEER RE 744 372 0 372 0.5 0 0 0 486 0 410
[E)) 744 372 0 372
* EEET * 1,956 6,681 0 6,681




